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May 6, 1988

. 11 after equation (7) stands (5). It should be (4).

. 14 after equation (19) stands [8). It should be [7].

. 36 after equation (9) stands [12]. It shouid be [1].

. 45 first paragraph stands (16). It should be (18).

. 49 stands Gy . It should be %, .

. 54 after equation (10) stands (4) and (5). It should be (6) and (7).

. 70 in equation (31) stands (Jn — Ju + .... It should be (—Jps + Jis + ...
. 70 after equation (32) stands (Jyy — Ju + .... It shouldbe (—Jxn + Jiy + ...
. 77 in equation (14) stands 2. It should be (2.

. 79 in equation (22) stands 1. It should be (2.

. 80 after equation (27) stands [2). It should be {1].

. 81 after equation (31) stands [2]. It should be [4].

. 82 before equation (32) stands Figure 5. It should be Figure 6.



